1 = 2T
~ ~ ~ ~ S
BRTH |BET TEHI FRIEY (HEAI) T ERNET m 207.5 208.0
ERL EEHET m 71.0 71.0
TREER EEH - RELTOSET m 260.3 260.0
RirEuny HEH - KETDED m 260.3 260.0
EmEEE BEBOH m 10.2 10.0
EHEM BEBOH m 9.7 10.0
BEEmT HEM (MHE) INEDIESH D400 'S 4 4
FHEDZE D600
L=275m $RA/NUR(E)-RZE
(t3.2. 48 &L
HEMGETE) INEDIESHL D400 'S 4 4
PR DOE 0600
L=31m 4(&F/XK) B
MRS MEBLERMHE (Th BRr 4 4
1. SN THB)E
&
BERART V9 —k(ERR) 24-12-40 (FF4F) m 145 15.0
VYY) —k(5RK) 24-12-25(7F4F) m 6.7 7.0
BRERU/ATRYE
HLary)—k 18-8-40(F4F) BE10cm m 9.7 10.0
2 (EhR) EH-HRHEED m 16.4 16.0
R (5B IK) EH-HRHEED m 12.9 130
B gLar)—k) m 1.1 1.0
B #hiR t=20mm m 54 5.0
530 SD345 D13 t 0.192 0.2
530 SD345 D16~25 t 0.670 0.7
Foh—n\— FEikRE ®200 m 20 20
R BRI HRR mE L>'¢ 20 20
()—2R) FEHERRES105m
SRMRITIAR :100m
KRG IIRE:10.0m
HZRAR 200 x 90 m 7.066 7.0
F0 L 75X 75X 9 m 6.0 6.0
BEL BRM~I 57 AT 0.5 0.5
EnET 29597 Bk BIGFE & (I RIR) ton 1.44 14
RI5vT05 BIGFE & (0 RIR) ton 1.44 14
XEEET XEFEERE AL 176 176
EIY—FE{HELT Bt 40milE Ut m 234 234.0
KETOS (WIE-FE) RAL % 158 158.0
N 0bIC EI) ;i lee m 158 158.0
ABEED5H@E) ;i lee % 158 158.0
R LRGE#E m 2425 243.0
kiR 22x914x1829 118%% m 196.0 196.0
1208 HBE-#E 88
RHEKE FERBHEKE  ¢500 m 4.0 4.0
EiR-EEF [FEBERI avy)—kJovsT avy)—rJ vy (B Iyt $#35cm m 14.9 15.0
Jovyig
BISITER VY- BGITHER $#35cm m 40 40
FibJoviE RERERER m 48 5.0
EEEE m 6.6 7.0
BGHTRixiar o) —k 18-8-40 (B4R B EEL m 6.2 6.0
B #ik t=20mm m 2.75 3.0
B #ik t=10mm m 7.97 8.0
EEEE m 20.3 20.0
HEEEERT ST TR T BhA e 18-8-40 (& 47) m 75 80
B E - B iR - Kk A
T BKIVNED
i m 11.5 12.0
EEEE m 115 12.0
R BHFA = 1 1.0
RIRFER BHFA Z 1 1.0
BEYRET BEYEERLT a9 —kEEL EHEED m 28.9 29.0
g
ANFERA a9 )—hR m 28.9 29.0
ZE BHA H 1 1
BRFEEZ BHA S 1 1
HiERE |EERE B E e EWE B8R B TEA - EREIL t 34.1 340
289(kg/#R) x 118(#%)
S RRAREE HEM Tk 1.0 1.0
BERBERMIEES HEREARE E:l3is 1 1
BEFEARE FERE Gl 2 2
BEFEARE BEIRE Gl 13 13
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1-1. fBHEL
B e T Al
Rl B =X (A ¥ & T B
. ol | A wEL| m’ 207.5 EFERET
E " 207.5 "
= MR L KRR IEAmM L & " 71.0 "
- % L n 260. 3 |y - KL 5 &
AT m® 10. 2 B D H
FEERS et =20cm I 9.7 I
BESpT T HEH $400 L=27.5m N 4 PIE-DE ¢ 600
= 24-12-40 J& R m” 14.5
; USRS 24-12-25 X HE " 6.7
% & &t " 21.2
K %L 18-8-40 t=100 m? 9.7
&R m? 16. 4
Eirl C YN BX RE " 12.9
ﬁ IR at " 29.3
¥ oL BLarzV—1r| m? 1.1
H #1 ¥ t =20mm n 5.4
D13 kg 192
» SD345 D16~D25 I 670
o a &k " 862
Btk T D16 & AT 8
% 7k T T =R E ¢ 200 m 2.0
m 10.5
PR AR A 758 20
wow T \ t 12.6
HE T8 200 X 90 m 7.066 |L=5.933m+1.133m
=570 | 4R 75X 75X 9 m 6.0 | (F7Z47 v 1K)
NS W ~>72 27> M m 12.0




1-2. Fff L
I it 1
& il i 8 AN n ® 5 =
| TRy 7L 7y 7 FE PE35em m? 14.9
i 70y o BT T B JLR m 4.0
B || BEEERLE R T 0 Y o PE35em| m? 4.8
i Hefi T E m? 6.6
a7 Y—Fk 18-8-40 m?® 6.2
Tl e — A m? 33. 4
a7 )—rL =20 2 2.75
A b m m
t=10mm m> 7.97
FL e m? 20.3
a7 Y —k 18-8-40 m° 7.5
Tl e — T m? 26.9
+=20mm 2 0. 38
H Hibf o
t=10mm m? 0. 64
B K ZE AT 1.08 VP ¢ 75
SR T HEAT \ m e
B~ b m? 0.18 t=50mm
. FEERAE p-o 1 B EHE F
P HE T P
AR EE VN 1 i
AL RC-40 m? 11.5 £=200mm
FLE e m? 11.5
1-3. =L
isy==y
& 1] p57) s AL & 5 =
A AETE Y 3 28.9
HE v HE L — m
THIA I 28.9
WET ARARa—y» & 0
BT L= AT I 1
PR A n 1
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| MK AL ¥ B 2
%+ weE+ AXE - ik m® 234
R 4% 158 [#A ()
Bt 3
NS AXE - ik I 158
W H UBS 4t m? 242.5
22x914x1829 K 118
BRI 22x914x1829 t 34.1 1289 (kg/#0)
BRI - HE m? 196. 0
IRHEAKAE RFIEHEKEE ¢ 500 m 4.0
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2-3. +THE

(1) R Y (A —7"HEH)

ABESE Cti THEEmE 2> 5H5mBLF)

WY+ (HEAR) 20. 1
20. 1
1/2 X ( 20.1
1/2 X 4.9
1/2 X 4.9
wE L GER) 7.6
2.0
2.0
&t 171.3
(2) #EL B RERIE4m L E
( 5.2
15.1
1/2 X ( 15.1
1/2 Xx( 1.5
/2 X 1.0
(3) 1
TEEE C 0.90
1 207.5
KE+EDH  (KET)
TEEE L 1. 20
158.0 & -
(4) FEm¥&iE (BB DH)
2.50 X  4.06

. 105
500
900
. 900
.610

X + + X X
=T O SN

X
o~

. 105
0. 500
1. 975

+ 36. 2

2.9
0. 50
1.5
1.0
0.61

X + + X +

(WE L)
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(WE L)
1.2

) X
) X

) X

) X
) X

1.975
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3-2. TR R

(1) KA T
- B RAR & GEHEEH V) NA T anr<iR - 5lik
FERB MA gEEREE (U —AH)
g SY295
Ex 10.5 m AR 10.0 m
sl 10.0 m
M 20 &
WILE 210.0 m
Mk
) MY N El =, =,
my | Ee A Ro (RTEE VEEE) | R o |
(m) (kg/m) (t) (t)
ot | SP | MY BEEIAR: 10.5 60 | 0.630 20 12.60 | SY205 | AlfBH
&t 12. 60
- SATP AL
VIREE
~ W El =N =
T st Ro o |RArEE AR L EE e | e
(m) (kg/m) (t) (t)
I E T4 200 X 90 5.933 30.3 | 0.180 [ 0.180 ALRBE
I FHER 200 X 90 1.133 30.3 | 0.034 1| 0.034 ALFBS
&t 7.066 0.214
S50 | L4 75X 75X 9 0.300 | 9.96 | 0.0014 20| 0.028 AlRBE
(=0. 15%2)
&t 6. 000 0.028
&t 0.242
Vot
i
Rl e JER RS Yo SR e
(m) (m)
T4~ (75+150+75) X 2 0.60 20 12.0
77w bk *7 Ty b1 @b
&t 12.0




4. BERRLT

D). 8EHT (¢ 400  [EIEEHE AN L= 27.5m
s PFLIAY Y Al
— W e EES | HE | HEE | IAYVERE (=% - -
mm mm (kg/m) (kg/ &) (kg)
P
PAE| ¢ 400Xt12 | 5500 1 115 632. 5 633 SKK490 ki
BIAE| ¢ 400Xxt12 | 5500 1 115 632. 5 633 SKK490 H3kL
PRE| $400Xxt12 | 5500 1 115 632. 5 633 SKK490 ot
BAE| ¢ 400Xxt12 | 5500 1 115 632. 5 633 SKK490 H L
PME| ¢ 400X t12 | 4500 1 115 517.5 518 SKK490 THL
b $400xt12 | 1000 1 115 115.0 115 SKK490 Tt
/NEE 3165 kg
NETT
B | PL 50x t25 | 120 8 196. 3 1.2 10 $5400 s 4 H
PAH | PL 50X t 4.5 4 2.2 9 $S400 JASPPY™ a4/}
FHM | PL 25X t9 | 1118 2 70. 65 2 4 $S400 EEAIR:))
A | PL 25X t9 | 50 6 70. 65 0.1 1 $S400 A Ky 3—
/NEE 24 kg
R PL ¢ 600X t 25 | 1 | 46. 6 47 SM490A SebmE 1ty b
/NE 47 kg
HE 1A D & 3236 kg
IR E
K1 D25 X 2400 8 3.98 9.55 76 SD345
K2 DI3 X 2040 9 0. 995 2.03 18 Z
K3 D13 X 1240 5 0. 995 1. 23 6 U
/NEF 100 kg




Hipt B EEE R 1Y 0 44
B Zoin N BraRE v -
gl Ei =g M E
kg kg
e ¢ 400X t12 3165 12660 SKK490 Kiik=g
/NF 12660
Z Ot
FRAR PL 24 96 55400 )&
FHR PL 47 188 SM490A He
IR 284
&t 12944
] D25 76 304 SD345 HUEHER
D13 24 96 i
&% 100 400 ]
hgt=a 7 J— b (24-12-25) L= 1.225 m
¢ = 0.400 m t= 0.012 m
M1AYY) =x/4 X 0.376 "2%x 1.225 = 0.14 m*
(—FH v 4 )R 0.14 X 4 = 0.56 m®
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1). HufE

>

SNEESEEINAE oD B Al
Ht e J&EL (m) Nl LXN
1| B HEE 1 1. 290 4 5.2
2| Ac HhEME T 3.180 4 12.7
3| As E + 1.520 9 13.7
4] Del HhE 1 2. 380 3 7.1
5| Dsl E + 1. 850 8 14.8
6| Dc2 HhE 1 0. 870 7 6.1
7| Ds2 E + 1. 990 15 29.9
8| De3 HhE 1 1. 750 7 12.3
9] Ds3 E + 0. 960 29 27.8
10| Dc4 HhE 1 2. 190 14 30. 7
11| Ds4 wE+ 3.490 25 87.3
12| Decb b 0. 590 15 8.9
13| Dsb wE+ 6. 230 35 218. 1
14| Dc6 b 0. 130 21 2.7
15| Ds6 wE+ 1. 660 20 33.2
16| Ds7 wE+ 0. 970 56 54.3
At 31. 050 564. 8
JNEE SN 564.8 /  31.05 = 18.2
He RNfE 56
A%+ (m, m”)
L INE N oYl %N oY )]
EHERES (LN EHEURES (LN
BE + 1.290 0.162 5. 160 0. 648
wWHE+ 18. 670 2. 346 74. 680 9. 384
A 1 11. 090 1.394 44. 360 5.576
Gl 31. 050 3. 902 124. 200 15. 608
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4 -4
400800
J:%IKIEEI {EBLG‘*E:EE 1=110ﬂ1ﬂ'|
[=p]
~t|
o 3
N
goo | 1200 [s00
[T 90909)
S T
(1)  FEHERF
e t =20cm
4.08 X 2.50
MiiERE -n/4 X 0.40 2%x 4
- 9.7 X 0.20

2 #L

<Ly 7 Y—hk t=10cm

4. 08 X
WiiER -n/4 X

cHLar s Y—k

( 4.08 +
(3)  JEhR

a7 —h
3.96 X
B 12 -x/4 X

ey e

( 3.96 +

-H # ¥

2.30 X

2. 50
0. 40

T

2.50

(& 24-12-40)

2. 30
0. 40

(T EkAh

2.30 +
(t=20mm)
1. 60

2%

(4% 18-8-40)

LETHT

600

40

5-5
800

500,304

<
(=]

O
I~

1200 {500

0ge00

90000)

1.9 m?

1.0 m®

(—fipe, BL=ar 27 U—1 )

+

X

2%

4.08 )X
1.60

0.10 X

- REEEN))
3.96 )X

0. 10

1. 60

{pfiEFETR t=110mm

10. 20
-0.50

9.7 m*®

I.1m

14. 57
-0. 05

14.5 m®

16.4 m?

3.7 m?



(4) EEhE

12. 95
-0.02
-0. 08

+ 1.7

cays Y —h (g 24-12-25)
3. 96 X 1.20 1. 42
fErE - 1/2 X 0. 80 0.02 X 3.96
i) (— BB, 8D - AREEY))
( 3.96 + 1.20 3.96 )X 1.42
B - 1/2 X 0. 80 0.02 X 2
I -0.02 X 3.96
- B # M (t=20mm)
.20 X 1. 42
(5) #£F (FHE i 1)
carysU—bk  (HE 24-12-40)
JEE B 14.5 m°
carr7U—k  (HE 24-12-25)
S K 6.7 m?
i e (—f%ipe, 8k - JAHEEY)
JE i 16. 4
S K 12.9
Bk 29.3 m?
- H Hi ¥ (t=20mm)

12.9 m*

1.7 m?



PR E & kg
Mg Rt i L
A JEEfR
D13 101 91 192
D16 387 283 670
D19
SD345 D22
D25
D16~D25 387 283 670
BriieE & 488 374 862
FEABGHE T
TER A T D16 8 & AT
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8.x%x 7K L
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= O
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1
|

o 2860 50
kit 2960
3030
FORA AR 7 v h—aFHE
250
0 5 .
T ’ Foh—r{—¢60
arl
l £
LY
N 2.0 .

665

320 \ﬁﬁﬁf!bﬂ)b FEIEELE L

b 200|
AN ™~
3) Ty — " —FEEx (FE ThET)
HRERE = 0.665 m
® 200 0.665 X 3

Al
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9-1. 7av T (el T)

(1) 7evys7fL

A= 3.75 X 3.96 = 149 m2
BN R 10m%4 Y
211200 350
727 1750 100
HEEa 2=
v50. 960
S { S
2 N v50.360 o
T 5)—F
WA~ H Y — b -, 2 8
o 2. <
|iows o & g 8
EAns /) 3 =
2.00m2
2\ i ~ |
o> 2
S
<7 46. 860
> o
YT
[e]
B0 — Rute <
1580 466 630
IHH HHAE g Ei gy
Mooy #235cm
3.75 X 10.00 37.5  m2
A
. 18-8-40
a7 U—h 37.5 X 0.22 8.3 m3
HOAM RC-40
2.024 X 10.00 20.2  m3
K
. 18-8-40
a7 U—=h 0.727 X 0.10 X 10.00 0.7 m3




(2) 7my VRERERET

L= 3.96 = 4 m
BN B R A 10m24 v
A
\\ \ \ 430
\\ " /7~ \330 104
\ é AR EWa o) —k
\ \\g\ A
\ N
\ [l Wl
Y, w2 3
8 o~
o o
g8 A g
E R
466 00 430 10(
EHH DS SRt B
1 0.43 X 0.25 - 1/2
o %Eﬁw N 18-8-40 ( /
~ X 0.33 X 0.15 )X  10.00 0.83 m3
Tl — e T
( 0.10 + 0.25 )X 10.00 3.50 m2
FEREAS RC-40
0.63 X 0.20 X  10.00 1.26  m3
FEHEEIE
( 0.63  + 0.47 )X  10.00 11.00 m2




A= 1.901 X 2.5 4.8  m2
R 10n Y
21 1200 350
AlEE FrER 850
BRI}
T ]
|
| g g
b= (=]
| = =
| | e
| Ravol— = S
i | X §
| REREE IOy S
| Eaem / /0 S
|Ji|—_—|14u3iﬂ|—_ﬂ[6 Im2 \ o
_____ N (=]
—=====| \ 7 =
: : 41%"5‘?&#%& \\
\
| || i
| ] | 505_391
| |
| |
=y =
HH Kk BEGE HE
R &
I #£35¢cm
ERET T ¢ 1.901 X  10.00 19.0 m2
i iA
. 18-8-40
27 J—F 19.0 X 0.22 4.2  m3
A RC-40
0.681 X  10.00 6.8 m3
K b
. 18-8-40
a7 Y—F 0.727 X 0.10 0.7 m3




(5) M
AR/ (
BRETAC S (

9-2. =7 J—hL

0.630 +
0. 505 +

0.466 )X 3.96
0.391 )X  2.50

(a7 U —1h)

(1) =2> 27V —*k 18-8-40
Wi s a = 0.021 X 0.60 + 1/2
X 0. 60
KV = 0.37 X 16.647
(2) Hupy — R, R
ENE] J( 1.20  *x  0.60 ) x 16.647
o 0. 60 X 16.647
BER 0.37 X 3 ST
(3) HHipf e [ Hi
t=20mm
BERRAG B 0.37
G 0. 60 X 3.960
t=10mm
Ao g 0.37
I HEREES 0. 60 X 12.667
(4) M
1.22 X 16.647

1.20

4. 34
2.24
6. 60

0. 37
6.2

22.33
9.99
1.11

m2

m2
m3

33.4

0. 37

m2

0. 37

m2

20.3

m2

m2



9-3. HJ)ACHERE T (f2 J5: 2 ) 3 biehe)
R
TiRE [ 2 3 L
20 12667
4000 8667
500 7@1000=7000 5167
L 2000 - 10667 |
1000 s
AR ba— (EBIKT)
.
V51, 650 / /
AVES (R l ﬂ ﬂ JI/
R BL o —_ | 2
5;{ [T § Th—
- o R . - 2
- i |” ™ L - V50 460 :
[\ \mirem )
| B t=20m (HHIHT) \ B e t=10m
3150 3150 B150 3207
2667 5000 5000
20 12667
LL 3 2
B @
1 -1 2-2 3 -3
876
476_40 821 668
196 280 42140 268400
FRTY b b5 EIAC A 7, S ¢ t- AU vl
300x300x50 ” VP 75 300x300x50 ( VP 75
val 550&2/??\ V51512 [
g 8 ) : oy ::7, Ve V5130 o/,
g : y g 2 /s g g DR
g =1 v50. 460 . 56.6‘ g0 . §‘_V_ao 460 L‘!
3T /[196 680
100 876 100 821 668
[]  ISIESIEbRTEHETRT.
LA T it ORI RICEET B,
(1) 2> 27V —F 18-8-40
Wrifg al = 1/2 X( 0.40 4+ 0.876 )X 1.190 = 0.76 m2
a2 = 1/2 X ( 0. 40 + 0.821 )X 1. 052 = 0.64 m2
a3 = 1/2 X ( 0. 40 + 0.668 )X 0.670 = 0. 36 m2
N vl = 0.76 X 4. 00 = 3.04
v2 = 1/2 X ( 0.76 + 0.36 )X 8. 667 = 4. 85
-Vj = B b 3RSy = -0. 38
7.5 m3



(2) 2

e R, B E )

E0N] 1.19 X 4.00 = 4.76
/2 xX( 1.19 4+  0.67 )X 8.667 = 8. 06
G 1.282 X 4. 00 = 5.13
/2 x( 1.282 4+ 0.722 )X  8.667 = 8. 68
B alta2+al 0.76 +  0.64 +  0.36 = 1.76
BB TR THERR S A = -1.45
26.9  m2
(3) H Hukt T B
+=20mm (B8 Tk 1)
BraxtEem A = a7 ) — Mirififgal - B LE L= 7 U — MrifEifEaj
0.76 -  0.38 = 0.38 m2
t=10mm
Hh A= a7 Y — ki fEa2 = 0.64 m2
(4) HekL
- KEEASAT VP ¢ 75
L= 0.566  +  0.511 = 1.08 m
Bk~ b t=50mm
A= 0. 30 X 0.30 X 2 = 0.18 m2
(5) BT (=R 2 A )
N = 1 s
.+ PBRESEAR
N = 1 ZN
(6) HpEbt t=200mm , RC-40
A= 0.976 X 4.00 = 3.9
/2 X( 0.98 4+ 0.768 )X 8.667 = 7.56
11.5 m2
V= 11.5 X 0.20 = 2.3 m3



(7) FEimiser
A= M EAEA

(8) EMTHiT ki Lxtgst

caysY—h 18-8-40
Wrimifg aj = /2 X( 0.40 4+ 0.68 )X
i vj = 0.38 X 1. 00
- T — R, A S
Aj = 0. 70 X 1.00 + 0.75 X
SNER:it~) fiiiE B Ho
£=20mm (E#Thi )
FraxtEaml A = a7 U — MrififEaj
c RA ha—v (M= L2 A )
N =
- AR (M= L 2 A8 )
N =

0.70

1. 00

0. 38
0. 38

1. 45

0. 38

m2

m2
m3

m2

B
I

=
3



10. #EL

- TR

(50. 00)

(50. 03)

51.39

« Wrimn <]

492_400

830

1210

-t ibbe L E

1230

Co

) 41

e

CEPTUES 3

892 2040

MR
1700
(L=2. 500m)

ERRERAYAENE
3500
(L=3. 960m)

(7 '61)

___________ 51.58
5001
49.92
R SR
=ML Hvig
51.60 51. 81 oo
TKGE B b 715 {
01‘“ H (4506)
50 sﬁg é S
2 HE
3
gm gw J
£ g% | & gE
AR Rt
Lls |2
o= i
AT B
; n
‘ &
i =
o I
1L F
HHECOVTIE. MEHEENRITERT 5,
50. 99
LT EPTIE
] g %
=
.2
g8
i
§ g—é 2000
E
WL E%:
i
=
4

1650

1060

Al

o a0 08
168
ey

T-2

E+va’ 35010

Tous v32L11
&

50. 24
660 _ 4
| EREATRRNE



10-1. & i L 1T

(1) B2EEf0 pE R P

vl = v (
v2 v (

(2) Bz U — MiE
WrmmAs al
g vl =

(3) & HEBEf %
Wrifg al =
kfE vl =

(4) s HuEE LT
XV =

10-2. BfHe THE
(1) BHHr T

. FREREE
o RS AR

3.50 Zx .75 3 x
.70  *x  0.85 % x

(EAEHIE BRI
(BEAEHIIE (BRI

0.35
0. 35

2.04

0.89

X

) X

) X

3.96
2.5

0.59

1.23

= 5. 42
= 1. 66

7.1 m3
= 0.85 m2
= 9.9 m3
= 0.79 m2
= 11.9 m3
= 28.9 m3
= 1 5
= 1 7'1:



11. fiL¥v— FL

11-1. B
C TR
(50,
O QR N Sk
g 50.05
T ; As

51.39

o
-
|~
Ho
”fﬁ <
T l/6NJ/T\I/\{J/\I/\I/
4Ex B
5000
7000
R R EDS

| [R&S
I LG
R 488 HR @ AT 7

NNNN

NN NN NN N NN NN NN NZNZNNZ N

i

000

28000

8. 06)

49. 55

1~38 8

50, 04

51.00



7 i [

£ TFikim
5000 1500
AR LBV FRES
IR U4 |3§&$5t$& £=2Pmm
. L ! s i :
KE+DS5 QLG
4B 3R
RANS]
KE+DS
T~3E%
oh [ Bfr e
3661 2050
AN AL (S & BN — RS
Wi LBt é&ﬁﬂﬁ t=22mm
[ i EEE ]
" ~ < [ T
KB4 ®S AN 3
4B EI S
w Thd
- Bt
KELDS =
T<38%8 a=9. Om2
11-2. HEE
(1) B+ (BRE - )
e+ 9.0 X 26.0 234
234 m®
2) KMtoH  *xmH (L+)
e 1-3B¢H 9 X 2 18
4E% H 5 X 2 10
[ 1-3E% B 4 X 26 104
4E% H 1 X 26 26
158 4%
(3) WL H LBHIERF
(TR ISES 3.66 + 2.00 + 3.00 8.66 m
TH R 8. 66 X 28.00 242.5 m?
(4) kA U — 28 22x914x1829
AR 7.00 X 28.00 196.0 m?
B 196 /( 0.91 X 1.83 ) 118 #



(5) IRPEKE  HRRPEAKE
REIRHEKRE ¢ 500 = 4.00 m



12. ARBEREHE - X27TF 97

<1>R79vyFEREOLL (EHS, 1.0m) 22T

(1) &H¥t
BB (F/ton) 5, 100

(ZER)

KR KD OEE (F/ton) 5, 100160 A 4y

(2) RENFES
RentE4sit 345, (H/ton) 162, 000] * T A T FiE fEfE L =
(R fES (hd) X90%) XEH& n-5-0-5
GEN

Ko sfie (i) 180, 000

X

90% 0.9
<2>R7 Ty 7EULEDL2 (#FEES, 9.5m) IZOWNT

(1) &¥
BB (M /ton) 5, 100

(ZER)

KR KD OEE (H/ton) 5, 10060 A 4y

(2) [ERE KR OEREE
B &k R (/ton) 12, 600

Y 1BEHY

R R

(ZEN)

ca: R 3. 6|k HAR T HE YRy

o -5-D-5
- b TR 3, 500 sk S M EE i
FEHEER R7T 54

<3>RIFvS
B & (ton) 1. 442

(NER)

O PR 1.2

- HUH & (ton/m) 0. 06
« HeE (Ko 20
@HE 4 0. 214|L=7. 066m
@ (L8 0. 028]L=6. 000m
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